Ultra Stack & Hang Parts Bin

Use this calculator to work out
how many Ultra Stack and Hang
Bins will fit onto a Louvre Panel.

1. Divide the Louvre height of the Panel
by the Louvre height of the parts bins
(round down to whole number)

2. Divide the Louvre width of the Panel
by the Louvre width of the parts bins
(round down to whole number)

3. Multiply the two figures to get
the maximum bin number

EXAMPLE .05 552 1256 oo
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19/2 = 9.5 6/1.4 = 4.2
Rounded down = 9  Rounded down = 4

Total: 9 X 4 =3¢

Please note: to simplify the calculations we have used a standard ‘Louvre’ as the unit of measurement
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